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BE FEAB | RO | EESB | BEIE
POR; — - SRERH -E S 104,601 62 52 42
PUF; — - ERH -3 104,384 66 40 26
PO — H-SRERE-EE(A) 9,988 44 32 24
PR —H- IR ERE -EEA(B) 59,547 48 36 24
POF; —H- SR ERE -HE(C) 32,803 44 32 24
PR — - IEERE-EE(S) 1,304 32 28 20
VUR; —B-FERL H (—)- RS 8,751 52 35 27
PUF; “E-HZERLE (—)-Bh RS 4,740 42 32 27
PR, —H-HER H ()L TR 1,484 74 54 38
VUR; —H-FHEER H (—)-EARE R SRS 2,169 62 47 35
PR —H-BZERLH (—)-satRE 9,976 74 62 48
PO — H-SHEER H (—)- LR BB EH 332 56 44 34
PUR; " BB H (—)- A B T 3,046 78 60 44
PUR; —H-HER H(—)-RmEf 1,549 70 52 38
PUR, —E-HERL H (—)- 2 5ERT 1,941 70 56 42
VUR; —H-EZERLH (—)- B kB 19,047 60 46 36
PR —H-EZERLH (—)- R 204 56 46 38
VU —H-SEERL H (—) K ERE 254 76 60 42
PUR —E-FER H (—)- BB 1,311 62 50 42
VUR; —H-FHER H (—)- R TR 15,300 56 34 26
PUR; —H-HER H (—)-REGE 6,948 70 60 52
VOF; —H-BEERLH (—)-REE S NE R 26,628 76 62 50
VUR; —B-FERL H () - REE 8,749 70 50 35
VUR; —B-FERL H () -Bh IR 4,761 42 32 27
PUR, —E-FHERL H (7)) - L 8 T R e 6,391 60 38 30
VU7 B -ESER H (Z)- BRI TR R R 10,828 62 42 32
PR —H-EZERLH ()BTRS 1,484 68 54 40
VU —H-EEER H () - EAREL SRR 2,167 70 52 37
PUR; —H-EEERLH (T)-aa T RE 10,006 71 59 44
VU7 —H-EEER H (D) LB e B 332 74 60 48
PUR; —E-FER H ()-SR H R 20,972 68 44 30
PUR; " BB H ()i A BLEE T 3,044 88 78 66
PUR; —H-HER H () -RimEf 1,547 76 50 38
PUR, —H-FHER H (5)-REG IR 2,283 78 64 52
VOFz — B-BEER H (T)- K BT E 5,134 66 54 44
PR H-BZERLH (T)-ERE 1,943 78 60 42




PUF; —H-BERLH (T)-HNER SR 5,692 72 59 43
PUR; —H-FHERL H (5)-FNERE H EEE 2,449 72 54 38
VUR; — H-EEERL H (T)- B kRS 19,031 58 44 34
PR —H-HZERLH (T)-BERE 204 58 48 40
PUR; —H-HERL H (5)-/KERE 254 68 58 48
PURE —H-FER H () -Elrh e 1,288 62 54 46
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